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	CHAPTER 13
	
	Cost Accounting and Reporting



	E13.7.                                                    
	
	
	

	
	Business Function
	Cost Item
	Answer

	
	a.  Research & Development
	1.  Purchase of raw materials
	__c__

	
	b.  Design
	2.  Advertising
	__d__

	
	c.  Production
	3.  Salary of research scientists
	__a__

	
	d.  Marketing
	4.  Shipping expenses
	__e__

	
	e.  Distribution
	5.  Reengineering of product assembly process
	__b__

	
	f.  Customer Service
	6.  Replacement parts for warranty repairs 
	__f__

	
	
	7.  Manufacturing supplies
	__c__

	
	
	8.  Sales commissions
	__d__

	
	
	9.  Purchase of CAD (Computer Aided Design) software
	__b__

	
	
	10.  Salary of website designer
	__d__

	
	
	
	


	E13.9.                                                    
	
	Product
	
	
	

	
	
	Direct
	Indirect
	Period
	Variable
	Fixed

	
	Wages of assembly-line workers…
	x
	_____
	_____
	x
	_____

	
	Depreciation-plant equipment  …
	_____
	x
	_____
	_____
	x

	
	Glue and thread  …………………
	_____
	x
	_____
	x
	_____

	
	Outbound shipping costs…………
	_____
	_____
	x
	x
	_____

	
	Raw materials handling costs……
	_____
	x
	_____
	x
	_____

	
	Salary of public relations manager
	_____
	_____
	x
	_____
	x

	
	Production run setup costs ………
	_____
	x
	_____
	x
	_____

	
	Plant utilities  ……………………
	_____
	x
	_____
	x
	x

	
	Electricity cost of retail stores……
	_____
	_____
	x
	x
	x

	
	Research and development expenses …………………………
	_____
	_____
	x
	x
	x

	
	
	
	
	
	
	

	
	Note: The last three items are each likely to have a mixed cost behavior pattern.  


	E13.11.  
	

	a.
	Raw material:  cotton, wool, or rayon used for jersey or material used for team emblems.

	b.
	Direct labor:  wages of production-line machine operator.

	c.  
	Variable, manufacturing overhead:  plant utilities costs or indirect materials (i.e., thread).

	d.  
	Fixed, manufacturing overhead:  depreciation of machinery or property taxes on plant.

	e.  
	Fixed, administrative expense:  salaries of administrative officers.

	f.  
	Fixed, indirect selling expense:  advertising costs.

	g.
	Variable, direct selling expense:  shipping costs.


	E13.13.  
	

	a.
	Predetermined overhead application rate 

= ($420,000 estimated total overhead cost / 50,000 estimated direct labor hours)

= $8.40 per direct labor hour.

	
	

	b.
	Total cost for 400 coffee mugs produced:

	
	Raw materials ……………………………………………………………
	$   432

	
	Direct labor (40 direct labor hours * $10.00 per hour)…………………
	400

	
	Overhead (40 direct labor hours * $8.40 predetermined rate)……………
	     336

	
	Total manufacturing cost …………………………………………………
	$1,168

	
	
	

	
	Cost per coffee mug produced = ($1,168 total cost / 400 mugs) 

= $2.92 per coffee mug.
	

	
	
	

	c.
	Cost of coffee mugs sold = (280 mugs * $2.92 per mug) = $817.60

	
	Cost of coffee mugs in inventory = (120 mugs * $2.92 per mug) = $350.40


	E13.15.  
	

	a.
	12,000 machine hours * $18.50 per machine hour = $222,000 budgeted overhead.

	
	

	b.
	Actual overhead incurred …………………………………………………
	$229,400

	
	Applied overhead (12,200 machine hours* $18.50 per machine hour)……
	(225,700)

	
	Underapplied overhead …………………………………………………
	$    3,700

	
	

	c.  
	The overapplied or underapplied overhead for the year is normally transferred to cost of                        goods sold in the income statement.  Since most products made during the year are sold                        during the same year, manufacturing overhead costs are assumed to relate primarily to the products sold.  However, if the over- or underapplied overhead is material in dollar                                amount, then it may be allocated between work-in-process, finished goods, and cost of                          goods sold, based on the respective overhead amount included in the year-end balances.


	E13.17.
	

	
	Total cost for 1,800 ties produced:
	

	
	Raw materials ……………………………………………………………
	$  6,620

	
	Direct labor (200 direct labor hours)…………………………………….
	2,240

	
	Overhead applied based on raw materials ($6,620 * 120%) ……………
	7,944

	
	Overhead applied based on direct labor hours (200 hours * $8.00) …….
	    1,600

	
	Total manufacturing cost…………………………………………………
	$18,404

	
	
	

	
	Cost per tie produced = $18,404 / 1,800 units = $10.22 per unit (rounded)
	


	E13.19.  
	
	

	a.  
	Absorption cost per sweater ………………………………………………
	$38.60

	
	Less: Fixed manufacturing overhead per sweater ($330,000 / 55,000)…….
	  (6.00)

	
	Variable cost per sweater …………………………………………………
	$32.60

	
	
	

	b.  
	7,200 sweaters * $6.00 = $43,200 more cost released to the income statement this month under absorption costing than under variable costing.  Thus, cost of goods sold under variable costing will be $43,200 lower than under absorption.

	
	

	c.     
	Total cost = Fixed cost + (variable rate * activity) 

= $330,000 + ($32.60/sweater * number of sweaters)


	P13.21.  
	
	

	a.
	Total manufacturing cost = (Direct materials + Direct labor + Manufacturing overhead)

	
	
	
	

	
	Direct materials …….………………………………………….
	
	$   900,000

	
	Direct labor (35,000 hours * $25 per hour) ……………………
	
	875,000

	
	Manufacturing overhead:
	
	

	
	Materials handling ($2.00 per part * 62,000 parts used) ………
	$ 124,000
	

	
	Milling and grinding ($11.00 per machine hour * 18,000 hours)...
	198,000  
	

	
	Assembly and inspection ($5.00 per labor hour * 35,000 hours)
	175,000
	

	
	Testing ($3.00 per unit * 10,000 units tested)…………………
	   30,000   
	    527,000

	
	Total manufacturing cost………………………………………
	
	$2,302,000

	
	
	
	

	
	Cost per unit produced and tested = $2,302,000 / 10,000 units = $230.20 per unit.

	
	

	b.
	The activity based costing approach is likely to provide better information for manufacturing managers because overhead costs are applied based on the activities (i.e., cost drivers) that cause the incurrence of cost.  Thus, management attention will be directed to the critical activities that can be controlled to improve the firm’s operating performance.  ABC systems also produce more accurate product costing information, which can lead to better decision-making.


	P13.23.
	
	

	a.
	Variable manufacturing costs:
	

	
	Raw materials …………………..…………………………………………
	$372,500

	
	Direct labor …………………………..……………………………………
	99,000

	
	Variable manufacturing overhead…….……………………………………
	   67,500

	
	    Total variable costs ……………………………..………………………
	$539,000

	
	Fixed manufacturing overhead………………….…………………………
	  105,000

	
	    Total manufacturing costs……………….………………………………
	$644,000

	
	
	

	
	Variable cost per rod = $539,000 / 35,000 = $15.40 each
	

	
	Absorption cost per rod = $644,000 / 35,000 = $18.40 each
	

	
	
	


	P13.23.  
	(continued)
	

	b.
	The fixed cost per rod is $18.40 - $15.40 = $3.00.  

This can also be computed as: $105,000 / 35,000 = $3.00.  

The total fixed cost associated with the 750 fishing rods in inventory is: 

750 * $3.00 = $2,250.  

This amount would be included in ending inventory under absorption costing, but would be reported as an operating expense under variable costing.  Thus, under variable costing, operating income would be $2,250 less than under absorption costing.

	
	

	c.
	Total cost = $105,000 + $15.40 per fishing rod produced.

	
	The cost of making 500 more units = 500 * $15.40 = $7,700


	P13.25.
	
	

	a.
	Raw materials …………………………..…………………………………
	$   662,000

	
	Direct labor …………………………..……………………………………
	1,304,000

	
	Manufacturing overhead   …………………………………………………
	    896,000

	
	Cost of goods manufactured ………………………………………………
	$2,862,000

	
	Cost per unit = $2,862,000 / 59,625 = $48
	

	
	
	

	b.
	Cost of goods sold = $48 * 54,000 = $2,592,000
	

	
	
	

	c.
	The difference between cost of goods manufactured and cost of goods sold is in the finished goods inventory account on the balance sheet.  Since more units were produced (59,625) than sold (54,000), the finished goods account will increase by $270,000 ($48 per unit * 5,625 units), and cost of goods sold will be $270,000 less than cost of goods manufactured.
	

	
	
	

	d.
	RICHARDS, INC.

	
	Absorption Income Statement

	
	For the month of May

	
	Sales …………………………………………………………………….
	$4,896,000

	
	Cost of goods sold……………………………………………………….
	(2,592,000)

	
	Gross profit  …………………………………………………………….
	$2,304,000

	
	Selling and administrative expenses …………………………………….
	(922,000)

	
	Operating income ……………………………………………………….
	$1,382,000

	
	Interest expense………………………………………………………….
	   (182,000)

	
	Income before taxes …………………………………………………….
	$1,200,000

	
	Income tax expense  …………………………………………………….
	(420,000)

	
	Net income  ……………………………………………………………..
	$  780,000


	P13.27.
	
	

	a.
	Note: This problem does not require a formal statement of cost of goods manufactured; the requirements can be solved using a "T" account approach.

	
	
	
	

	
	Raw materials:
	
	

	
	  Inventory, Feb. 28 …………………………………………
	$ 53,600
	

	
	  Purchases during March …...………………………………
	198,240
	

	
	  Raw materials available for use ……………………………
	251,840
	

	
	  Less: Inventory, Mar. 31…………………………………...
	  (44,160)
	

	
	  Cost of raw materials used…………………………………
	
	$207,680

	
	Direct labor cost incurred……………………………………
	
	499,520

	
	Manufacturing overhead applied ……………………………
	
	307,680

	
	Total manufacturing costs, March …………………………
	
	$ 1,014,880

	
	Add: Work-in-process, Feb. 28 ……………………………
	
	114,080

	
	Less: Work-in-process, Mar. 31 ……………………………
	
	  (103,680)

	
	Cost of goods manufactured, March ….……………………
	
	$1,025,280

	
	
	
	

	b.
	Finished goods, Feb. 28 ……………………………………
	
	$      75,520

	
	Cost of goods manufactured…………………………………
	
	1,025,280

	
	Cost of goods available for sale …………………………….
	
	$ 1,100,800

	
	Less: Finished goods, Mar. 31 ………………………………
	
	(67,040)

	
	Cost of goods sold ………………………………………….
	
	$1,033,760
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